FL3AX21.5 NANO

40100701571
Supplement for
Pedestal mounting instru

Components pedestal
incl. SMALL baseplate

PYRAMID

ctions

Components pedestal
incl. LARGE baseplate

1 x System adapter (F)

e

1 x Pillar (E)

1T x Rear cover (G)

1 x Mounting adapter (D)

1 x Clamping plate (C)
1 x Spacer plate (B)

1 x Baseplate (A)

s
s ==

Fastening material
3 x M6 selflocking nut 4 x Countersunk M8x40 screw

1 x Power cord extension 1.8 m

4 x Countersunk M5x10 screw 4 x M8 selflocking nut

Pictures show sample configurations, real product may vary.

1/6

© 2023 by Pyramid Computer GmbH - Bétzinger Stral3e 60 - D-79111 Freiburg - www.pyramid.de

- Phone +49 761 4514 0 - sales@pyramid.de



PYRAMID

/A\ CAUTION

Risk of injury from falling components.
+ Keep a safe distance from the device while it is

‘ being transported or installed.
+ Make sure that the system is securely fastened.
—

Step Action

1 Break out the spacer plate (B, blue), which comes as
part of the mounting adapter. This spacer plate will be
needed again later.

2 | Screw on the mounting adapter (D) with the provided
countersunk M8 screws (4x) to the bottom of the pillar

(E).

3 |Screw on the system adapter (F) with the provided
countersunk M5 screws (4x) to the top of the pillar (E).

2/6

Pictures show sample configurations, real product may vary.

© 2023 by Pyramid Computer GmbH - Bétzinger Straf3e 60 - D-79111 Freiburg - www.pyramid.de - Phone +49 761 4514 0 - sales@pyramid.de

pplement_pt_Flex_21,5_Pedestal_mounting_EN - 21.09.23 - specification is subject to change

4010070151_Su



PYRAMID

Step Action Figure
4a  |SMALL BASEPLATE
This base plate is designed to use the system with the FRON T
column as a bolted option.
Floor bolting (mandatory):
Drill 3 holes for 10 mm screws to mount the baseplate 3
(A) to the floor (the dimensions shown in the illustration
are in mm). © 0
This is mandatory to prevent the system from tipping — @
over (CAUTION: risk of injury).
Screws and dowels are not included in the package as
they need to be determined individually to the given &
floor properties.
Note: If you have purchased an optional table top 6
accessoire, the orientation of the pillar may change, @ ©
please refer to the manual in the optional table top ° \
accessories. \ /
15 45 45 15
5a |Mount the baseplate (A) to the floor with 10 mm screws FRONT
(drawing shows top view of the system).
(e | —
3 H / :\\
& = // } \\
oo ‘D \\
f \, _ \
i
” 0o
BACK

Pictures show sample configurations, real product may vary.

3/6

© 2023 by Pyramid Computer GmbH - Bétzinger Strafl3e 60 - D-79111 Freiburg - www.pyramid.de - Phone +49 761 4514 0 - sales@pyramid.de



PYRAMID

Step Action Figure
4b  |LARGE BASEPLATE
This baseplate is designed to use the system e
with the pillar as freestanding option without fixing e
it to the floor (compliant with DIN EN 62368).
It is not mandatory to fix it to the floor, § FRONT/VORNE A
although it is recommended. 3
N° ° 7
Floor bolting (optional): . O -\
Drill 3 holes for 10mm screws to mount the baseplate to | g \_
the floor.
Screws and dowels are not included in the package @ s
as they need to be determined individually to the :
given floor properties (the dimensions shown in the it/ HINTEN
illustration are in mm). ] o
5b | The drawing shows the relevant dimensions and ERONT
distances (top view including the system unit). 7\ -
o —
g d=t )
| e lp
€ \
K //-7_7 T \\_7/
BALK
6 Push the spacer plate (B) that you previously put aside
onto the 2 threads of the corresponding base plate
(small or large) as shown.
7 Put the clamping plate (C) over the spacer plate (B) into
the 2 bolts as shown and screw down both plates with
the provided M8 nuts.

4/6

Pictures show sample configurations, real product may vary.

© 2023 by Pyramid Computer GmbH - Bétzinger Straf3e 60 - D-79111 Freiburg - www.pyramid.de - Phone +49 761 4514 0 - sales@pyramid.de

pplement_pt_Flex_21,5_Pedestal_mounting_EN - 21.09.23 - specification is subject to change

4010070151_Su



PYRAMID

Step Action
8 Put the pillar (E) onto the baseplate (A) and push the
pillar into the shown direction.
Fasten it with the provided M8 nuts (marked).
9 Position and put the system main unit onto the 3 bolts

and fasten it with the provided M6 nuts from the inside
of the system.

Wire up the system.

Note the cable grommet on the bottom of the system
unit. From here you can route the cables either inside
the pillar (E) (only for floor cabling) or inside the rear
cover (G) (for standard cabling, free-standing with base
plate).

Green=Power
Yellow=Ethernet LAN

Pictures show sample configurations, real product may vary.

5/6

© 2023 by Pyramid Computer GmbH - Bétzinger Strafl3e 60 - D-79111 Freiburg - www.pyramid.de - Phone +49 761 4514 0 - sales@pyramid.de



PYRAMID

Step Action

10 | Put onthe rear cover (G).

pictures (opening at top).

Note the opening on the cover (marked).

For standard wiring, the panel must be turned 180°
so that the opening is at the bottom.

For floor wiring, the panel can be used as shown in the

Polytouch Flex 21.5 available pedestal colors*

Order code Pillar high Color

4010074274 750 mm RAL7016 anthracite grey
4010071867 860 mm RAL7016 anthracite grey
4010074275 750 mm RAL9005 jetblack
4010074276 860 mm RAL9005 jetblack
Polytouch Nano available pedestal colors*

Order code Pillar high Color

4010075426 750 mm RAL7016 anthracite grey
4010075427 750 mm RAL9005 jetblack
*Request customized color at sales@pyramid.de

Optional accessories

Order code Description Color

4010070130 Freestanding baseplate RAL7016 anthracite grey
4010071868 Freestanding baseplate RAL9005 jetblack
4010070129 Table top Glaciar white

6/6

Pictures show sample configurations, real product may vary.

© 2023 by Pyramid Computer GmbH - Bétzinger Straf3e 60 - D-79111 Freiburg - www.pyramid.de - Phone +49 761 4514 0 - sales@pyramid.de

pecification is subject to change

_Pedestal_mounting_EN - 21.09.23 - s

Supplement_pt_Flex_21,5

4010070151



